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2. xtgee 1O O Example 1
Example 2

1. 0000D000n

xtgee 00000000000 ODDOOODDOODODODOO (GLM: generalized linear models) O

Ooo0oOooooooa
9{E(yit)} = xit3, y~FOO000006,,0000 (1)

oodéi=1,...,mt=1,...,n,,00000¢() 000000 (link function) 0OF 00 0O (distributional
famﬂy)DD[lDDDDDDDDD g0 FOOOOODODDODODOOOODODODOOO0OD0DO00oO0oooooooo
00000y 000000000g¢() 00000 (identity function) 000000000000

E(yit) =xuB,  y~N() (2)

gobooooooooooboocoooboocOoooboboooobooOoOoOooOoOoOoOoOboO0OoOboOoOobOoOoobooOoboOoo
goooooo

¥y 000000000000000000g()00D00000D0O00000O0
logit {E(yit)} = xit3, y ~ Bernoulli (3)

0000000000000 0O00D000DO000 ¥, 000000000000 0y()ODODOOODODOOD

ooao
In{E(yir)} = %3, 1y ~ Poisson (4)

gobooooooooboooobooooooOoooobOOoOoOobooOoOooooOoOoOoooDn

[~ xtgeeDO0DDOO0DD (GEE: generalized estimating equations) 000000000 GLM
goobooooogo
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2. xtgee 0 O O

0000000 xtgeeOOOOOOODODOOOOOODOO0O0DOOOO0ODOOO0DOOOODOOO xtgeeODOOO
goboooooooboooooobooobobooobooooooooooooooooobooooboooon
goboooboooobooooooo

> Example 1

[XT] xtgee O Example 1 00 Example 000000 nlswork2.dta 0000000000000 O0O0O

. use http://www.stata-press.com/data/r17/nlswork2.dta *!

(National Longitudinal Survey. Young Women 14-26 years of age in 1968)
000000000 National Longitudinal Swrvey 000 0003,914000000000000000
1968000 19780 0000000000 00C0O0O0O0O0O0DO0OO0OODOODOODN idcoded OO OOO
year O OO0 xtset JO OO0

. Xtset

.BIxtset

PanelBvariable: idcodel(unbalanced)
BTimelBvariable: year, 68Eto 78,EbutBwithBgaps
FPFERRRREDelta: 1Bunit

Unbalanced 0 0000000000000 00O0OOO000OODOO00OO0OOOO0OO0ODOOOOODOOOOOO
ooobooooooooooooooOobooOobOoOoOoOooOoOoooOoboOoOobOOoOoobOboOoobooOoOoooOooOoa
oooooooon

*1 0000000File > Example Datasets > Stata 17 manual datasets O O O O Longitudinal-Data/Panel-Data Reference
Manual [XT] O xtgee DO OODODODODODODODDODO



Stata17 whitepapers

. describe 1n_wage grade age *2

.Bdescribefln_wagelligradeklage

Variablel
BEREnameRERRERREty peBRREFformath

BIStoragelEDisplayBRERValue
labelRRRRERERVariableflabel

1n_wage BfloatRIRE%9 . 0g 1n(wage/GNPRdeflator)
grade EbyteBRERE%8 . 0g Currentlgradelicompleted
age BbytelRIER%8 . 0g AgellinBcurrentlyear

goboobooboobbooboo

0o 0o
In_wage oooodo

grade oooo [0-18]

age 00000000 [14-46]

0000 lnwage O grade, age, age’ 000000000000 0DO0O0ODOO0O0OD0OO0DOOOOOOO
regress 00 000000O0O000DO0OOCOO0OOOCOO0O0OOOCOOO0OOCOCOOOOCOOOODOOO
000000000000 0000000D00000D00000 idcoded00D0DOOO0DODO (observations)
ooooo0oooooooooooooooooo

. regress ln_wage grade age c.age#c.age 3

.BregressBln_wagellgradellagelic.age#c.age

EEEEEESource |RREEEEESSEE

PRRRRRRRE fRRRREREEMS BEREEENumbe rElofElob sERRI=FRRRE16 , 085
PIRRF (3,216081)E
RPRE3EEEL199.18156 Probi>EFH
F116,081F0RR. 14089583 REsquared
FERAdjEREsquaredsl [0.2085
BRRRERERETotal (12863 .29052FRRR16,084Ek .178021047 RootEMSEREREREEE= ®.37536

BIRI597 . 54468l
£12265.74584]

EEERE1N_wage |BECoefficientEEStd.Rerr.EREEREtERREP> |t |EERER]95%Econf.Binterval]

?.0752374
F1.1228825

.0724483EEE
7. 10648740

Flgrade
Fage

Bc.age#c.age |EEH.0016931EM.0001655ERE10. 23RO . O0OREEEE . 00201 74LEEE . 0013688

R

EE_cons |CGERE.8681487EE0E.1024896LEEEES . 47RO . 00OEEEEEE1 . 06904RERERER . 6672577

*20000000 Data > Describe data > Describe data in memory or in a file
*3 0000000 Statistics > Linear models and related > Linear regression 00000000000000000 [mwp-028
ooo
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00000 xtgeeOODOOOOOOOO0O0ODOOOO0OOOO0O0OODOOODOOO corr(independent) OO
gobogo

e Statistics > Longitudinal/panel data > Generalized estimating equations (GEE)
> Generalized estimating equations (GEE) 0 0 O
e Model O O: Dependent variable: 1n_wage
Independent variables: grade age c.age#c.age
Family and link choices: (Gaussian, Identity) 0000000

B xtgee - Fit population-averaged panel-data models by using GEE

Model  Model 2 Comelation by/iffin  Weights SE/Robust Reporting  Optimization

Dependent variable: Independent variables: . Panel settings... : |
In_wage Bl | A8 grade age c.agerc.age | il .|
Family and Inverse Megative
link choices: Gaussian | Gaussian = Binomial Poissen binamial Gamma
Identity Y o o o O O
leg. O O O O O O
Logit O
Probit O
C. log-log 0
Power O O O O O O
Odds power O
Meg. binom, ]
Reciprocal | O | 0 | O | O

?| IC| [ Cancel Submit

01 xtgeeOOOODO- Model OO
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e Correlation 0 O : Independent

B xtgee - Fit population-averaged panel-data models by using GEE

Model Model 2 Corelation | by/fiffin  Weights SE/Robust Reporiing Optimization
Within-group correlation structure for PA model
() Exchangeable
(® Independent
() Unstructured
Correlation matnx
1= Autoregressive order

115 . Staticnary order

O00O0

I 5 | Menstationary order

0 2 xtgee 000 O0O- Correlation 0 O

e SE/Robust O O: Scale factors: Use divisor N-P instead of N [nmp]

B xtgee - Fit population-averaged panel-data models by using GEE

Meodel Meodel 2 Correlation  by/iffin  Weights SE/Robust Reporting Optimization

Standard error type; Scale factors

Default standard errors () Divisor N (default)

Robust (@) Use divisor N-P instead of N [nmp]
Conventional

Bootstrap

Jackknife

Scale value choices

(®) Default for chosen family
() Pearson chi-squared over df.

Mote: The default is conventional.

() Deviance over degrees of freedom
() Do not rescale the variance
o User-supplied scale

0 3 xtgee 00O OO- SE/Robust 00
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.Bixtgeellln_wagelligradellagelic . agettc.age,Bfamily(gaussian)Blink(identity)Bcorr(inde
>Bpendent )Enmp

IterationBl:Btolerancel= 8.765eR13

GEERpopulationBaveragedimodelRRRRERERERRRERRRRERRRENUumbe rElofRlobsERRR= ER16,085
GroupBvariable: idcodeBRRERERERERRRRERERERERERRRRRERENumbertiofRigroupskl= BRIR3, 913
Family :BGaussianfEEREEEEERRRRREEREERERRRRRRREREERERROb sEperEgroup :

Link:REERIdentityfRRRRRRRRRRRRRRRRRRER R R R ERERREREREEMinE= ERRRRREL
Correlation: independentRRERERERERERERERRRRERRRRERRRERERRRRERRavegR= RERRREA . 1
01 E2 2] 312 3 3 B2 E3 2 0 E2 2 = E2 2 x 12 3 2 0 E2 2 2 3 = 12 3 2 2 E2 2 0 E2 2 = 2 3 12 E3 2 B2 2 B2 B3 a1 = D A B B3 3 B B2 2 )

WaldEchi2(3)@ @4241.04
ScaleBlparameteri= .1408958RFRREREERRRREERERRERRREREP robl>Echi 2BRRERR= BRI . 0000
PearsonBlchi2 (16081 )ER= F2265.75FRRRRRRRRERRRRRRREEREDeviancer = [2265.75
DispersionB(Pearson)B= .1408958 Dispersion A= .1408958

PEREELN_wage |BECoefficientBEStd.Rerr.ERRRERRZERREP> |z |BEEREE[95%Econf.Binterval]

BEREEREEgrade |EREE.0724483ERE.0014229EFRR50 . 91EER0 . 00ORERRE . 0696594 . 0752372
CRRRRRRRRage | EEE.1064874CRE . 0083644LRRR12 . 73REERO . 00ORRREE . 99009 35ERER . 1228812

Blc.age#tc.age |EEER.0016931CREIE. 000165510 . 23R EERO . 000ERREE . 09201 74EEEE . 0013688

PREEEEE_cons |EREER.8681487CEEE. 1024896EEEEES . 47EEERO . 000EREEE1 . 06902 5REER . 6672728

UbO0b00b0b0b000b00 regress 00000000000 DOODOOOO0ODOO0O0O00mmp OO
ooooopooooo0oooopoooooU0oUoooo NOODODOOOOUOOODOooDoDoooOooooo
gboboobogoo <

> Example 2

oobooooooooon



